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Latin A.T.G.L. Marking scheme 2001
Total marks = 400.

uestion 1.

Section A. =75 marks
5 sentences @ 15 marks each.

Penalty system applies as follows.

Major error = -3.

i.e. for omission of verb, wrong construction or mood but only one block penalty to be
applied per construction.

Lesser error =-2.

i.e. Wrong voice, tense, number, case, omission of noun,adjective, pronoun ut, ne, se
etc.

Minor error = -1.

Wrong gender, degree of adjective or adverb, misspelling or vocab. Error.

Section B.

Comprehension = 75 marks.

(1) 5+5.

(2) 5+5.

(3) 5+5.

(4) Success 5 +5 Opposition =5.
(5) 5.

(6) 5+5.

(7 5.

(8) 4+6.

Question 2.

Translation = 130 marks.
One ex section A.
One ex section B.

A (1)The priest tells Decius how to pray for a Roman victory.

Pugnatum est................ montis =4
Manlius..........coeveeneens praeerat.=4

Primo.................. pugnabatur =

Deinde................ receperunt =
Inhac..................... inclamat =5.

Deorum................ devoveam =12. Total = 65
Pontifex................... dicere  =3.

Deiccooiiiiiniiinninann, afficiatis  =16.
Haec....coovvnvnennnnnns immisit =9. -

A(2) A search for food causes war; Caesar sends forces against the powerful Veneti.

HiS.oovovvvennnn.... coortumest =20.



P.Crassus............. hiemabat = 7

| C T dimisit = 14
Quo...ceeeennennnn.n. Venetos =4.

Huius.......... consueverunt =17. Total = 65.

Luna................. cerpam = 8

Quod......ceenneneen. habent =7

Nunc....cooevenvennnns curro =9

Alta....cocvenrnnnannn. pedes =5

Interea............ Theseu =

Reddebant....... vocabat =13

Ipse...coevnninininnns opem = 6

NeC.oovevvrerannnnn dolor =

Excttor............. voco =7. Total = 65.

Haec......c..ce.ee. imperat =

| 3 ST honorem =12.
Intersintque...... lacrimis =4.

Solatia.......... patri =8.

Tunc........... Aeneas  =10.

Quas.......... Fecerat =11.

Et...coece. auro =5.

Harum........... induit =8. Total = 65.

Question 3. Prescribed text

90 marks.
Section A or B.
Section A (1) Translation = 60.

Ibiceevvninnns traicere =10.

Id......... facturum  =8.
Non........obtineant =8.

Mago...... Liguresque = 11.

Ipsi....... deficerent =8.

Simul........ mouitur = 15. Total = 60.

(2)Answer 3 ex 5 @ 10 marks each.

(a) 5+5.
(b) 5+5.
(c) 5+5.
(d) 5+5
(e) 5+5.



Section B.

.

Extemplo................ Calchas =5.
|\ [ R telis =5.
Omina.................. reducant =5.

Et....... Mycenas 4.
Arma...comites =3.
Pelagoque..aderunt =3.

Ita............ Calchas=2.

Hangc....piaret =9.

Hanc....... iussit =9,

Ne........... tueri  10. Total =60.
(2)Answer 3 ex 5.

(@ 5+5. .

(b) (3+2) H3+2).

(c) 5+5.

(d) 5+5.

(e) 4+3+3.

Question 4. Marks =30.

(1) 4@ 2 marks each.
(2) 2+1+1
2+1+1
2+1+1.
(3) Each correct foot merits 2 marks ( max. 10).

Question 5. =75 (25x3)
One Q. from section A.
One Q. from section B.

Third Q. from either.
Section A.

(1) 9+8+8.
(2)Do 2 ex 3.
(a) 7/6 +6.
(b) 7/6 +6.
(c) 7/6+6.
(d) 7/6 +6.
(2) 9+8+8 (must refer to both soldier and emperor).

Section B.

(1) Life = 7+6.
Writings= 6+6.
(2) Note on architecture 84586. Fupd iV Ci<1c



(3) Do 2 exfour@ 7+6 /6+6 marks.



